1000/c 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

=

=
<
I

=
<
N

[EEY

0.5

7000 GeV pp Jets
_| T I T I T I I T | T I T I T I T I T | T I T I I T I ﬂ
| c
L Trimmed Jet Mass (anti-k (0.7), 2800<p_ <1000, |y|<2.5) L %
= =D
= A
- L0
- —{ AN
- _|e
= <
= =0
— Jo
=
B T
©
= NN
= ISR =P
v e
= I P
—
= m CMS Eg
[ --0-- Herwig++ 2.6.3 default B
~  --O-- Herwig 7.2.0 default =
= —¥— Herwig 7.2.0 softTune 3 §
- 18
- - o
(&)
= =k
— =2
1
I é
- — 0.5
| " 1 1 " 1 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1
0 100 200

(m_1+m_2)/2[GeV]



	Contents
	Page 1


